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COMPUTER SCIENCE TRIPOS Part IT (General)
DIPLOMA IN COMPUTER SCIENCE

Wednesday 4 June 1997 1.30 to 4.30

Paper 12 (Paper 3 of Diploma in Computer Science)

Answer five questions.

Submit the answers in five separate bundles, each with its own cover sheet. On
each cover sheet, write the numbers of all attempted questions, and circle the
number of the question attached.

Write on one side of the paper only.

1 Digital Communication I

Compare the multiplexing aspects of packet switching and circuit switching.
[5 marks]

ATM has been described as a compromise between circuit switching and packet
switching. Explain this with respect to multiplexing. [5 marks]

Consider a generic switch with multiple inputs and outputs. Describe the functions

that are performed in moving information from an input to an output in (a) a

circuit switch and (b) a packet switch. How is contention for output transmission

capacity resolved in each case? [10 marks]
2 Computer Graphics and Image Processing

Describe the z-buffer polygon scan conversion algorithm. [10 marks]

Explain how the A-buffer improves on the z-buffer. [5 marks]

Explain what a form factor is (in radiosity). Outline an implementable method of
calculating form factors. [5 marks]
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3 Processor Architecture

The ARM processor allows every instruction to be conditionally executed whereas

many processors allow only branches to be conditional.

In ARM assembler

conditional execution is indicated by one of the following postfix mnemonics:

Condition code

mnemonic Meaning
EQ equal
NE not equal
CS unsigned higher or same
CC unsigned lower
MI negative
PL positive or zero
VS overflow
VC no overflow
HI unsigned higher
LS unsigned lower or same
GE greater or equal
LT less than
GT greater than
LE less than or equal
AL always execute (default)

(a) Using the following C-code excerpt as a basis for argument, briefly explain how
conditional execution of every instruction can reduce the size of the code when
compared with an instruction set which allows only conditional branches.

if (x==0) a=y; else a=y*x;

[7 marks]

(b) What effect do branch instructions have on a processor pipeline which does

not perform branch prediction (i.e. as on the ARM 7)7

[7 marks]

(¢) What effect do conditional instructions have on the pipeline if the condition
fails, and why is this effect preferable to that of short conditional branches

(assuming no branch prediction)?

[6 marks]
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4 Computer Architecture
Write short notes describing the operation of each of the following:
(a) DRAM memory cell
(b)) DRAM memory chip
(¢) DRAM memory module
(d) DRAM memory module refresh cycle
(e) interleaved DRAM memory modules

[4 marks each]

5 Business Studies
What is meant by a project’s critical path and why is it important? [5 marks]
An organisation which manufactures about 30 different kinds of widget has asked
you to develop a web site which includes an on-line catalogue and order entry
facility. You may assume that service provision (including access to a merchant
system) will be provided by a service provider, at no cost to this project.

Draw up a task list and project plan, and indicate the critical path. [5 marks]

Estimate a price and time to completion for the job, and how much working capital
will be required, stating your assumptions. [5 marks]

What precautions can be taken to ensure that the project completes to the
customer’s satisfaction? [5 marks]
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6 Programming in C and C++
A slightly clumsy programmer had been lagging behind the company productivity
targets and needed to write some C++ code in a hurry. Almost remembering an

old optimising compilers question from student days, this programmer produced a
file containing the text:

struct List { int head; struct list *tail; };

struct List readlist()

{ int i;
struct List *p, *q, *t;
L1: p = NULL;

L2: while (scanf("%d", i) = 1)
/* scanf reads an integer and returns 1
if it finds one correctly /*

[
L3: t = malloc(sizeof (List *));
if (t == 0) printf("oops no memery\n");
else t->hd = i;
L4: t->t1l = 0;
if (p == NULL)
pP=q9=%t;
else
q->tl = t, q = t;
}
L5: return p;

}

Unfortunately the programmer had forgotten what this was supposed to achieve;
you are asked to help re-create an explanation for the code and to identify problems
(of either style or correctness) in it. You do not need to provide a correct version of
the program: just draw attention to as many errors or oddities as you can. Suggest
two ways in which a move from C to C++ might allow the structure of the code to
be improved. [20 marks]
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7 Compiler Construction

Describe an efficient tree pattern-matching algorithm that could be used to find a
cheapest covering of an abstract syntax tree by pattern templates with given costs.
[lustrate your algorithm using the following templates:

#1 R <-k cost: 1
#2 R <- f(R, k) cost: 2
#3 R <- f(R, R) cost: 2
#4 R <- f(R, f(R, k)) cost: 3
#5 R <- f(f(R, k), R) cost: 4

and the following tree:

f(£f(k,k),fk,k)) [20 marks]

8 Prolog for Artificial Intelligence

The next-highest member of a list of integers is the second-largest member of the
list. For example, for the list [1, 4, 1, 5, 2], the next-highest member is 4.

Write a Prolog program to find the next-highest member of a list of integers. For
example, the goal nexthi([1, 4, 1, 5, 2], X) should instantiate X to 4. Your
program may assume that the largest member is not repeated in the list. The goal
should fail if the next-highest member does not exist.

[20 marks]
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9

10

Databases

Describe the ANSI/SPARC architecture for database management, and show how
its use contributes to the enforcement of data independence. [6 marks]

Explain briefly the terms entity, attribute, relationship. [3 marks]

Both network and relational Database Management Systems provide Data
Definition Languages so that a conceptual model can be expressed as a formal
database schema. Explain the ways in which the primitives supplied for data
representation differ between the two models. Illustrate your answer by considering
the following database scenario:

The employees of a company are grouped into a number of departments. Each
department has its own director, who is not necessarily a member of that

department. Independently, many employees are assigned a manager who is
responsible for their career development.

[Any assumptions that you make about the nature of the data should be stated
explicitly.] [11 marks]
Introduction to Functional Programming
Write an ML function cart which behaves as in the following example:

cart ([1,2,3],[6,7]) = [(1,6),(1,7),(2,6),(2,7),(3,6),(3,7)]
and give the type of cart. [5 marks]

Show that Y defined as Af.(Ax.f(zz))(Az.f(zx)) is a fixed point combinator in
that for suitable g we have Yg = g(Yg). [5 marks]

Discuss applicative order (eager) versus normal order evaluation giving an example
of an expression which illustrates the difference. [5 marks]

Write an ML function filter of type (int -> bool) -> int list -> int list
which when called as filter p 1 gives, in order, the elements x of 1 for which
p applied to z is true. [5 marks]
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11 Computer Vision

12

Explain the notion of scale-space and how it is used in various areas of computer
vision. Include the following:

(a)

(b)

Pyramidal representations of image structure across successive scales of blurred
undersampling. [5 marks]

Edge detection operators that extract edges at particular scales of analysis,
but not at others. [5 marks]

The behaviour of zero-crossings, their trajectories and “fingerprints” in
scale-space. [5 marks]

The generalised wavelet transform as a self-similar mapping into scale-space,
and its attempt to capture invariances under the transformations of dilation,
translation and rotation. [5 marks]

Complexity Theory

Comment on each of the following assertions, explaining whether they are right,
wrong or imprecisely stated. State explicitly any standard results needed to justify
your assertions and, in cases where the statement made is almost but not quite
correct, attempt to clarify or mend it.

(a)

If one had a special piece of hardware that could solve the boolean-satisfiability
problem 3-SAT in time nlog(n) then there would be some constant K such
that it would be possible to solve all NP-complete problems in time no worse

than n¥.

The square root of an n-bit number can be computed in time proportional to
nlog(n)loglog(n) on an ordinary computer, therefore computing square roots

is not an NP problem.

Every task that can be performed in Polynomial Time will be solvable on a
conventional computer in a reasonable amount of time.

Any task that is NP will take an unreasonable amount of time if an attempt
is made to solve it using an ordinary computer.

Deciding whether black or white will win the game of chess if both players
behave totally logically is not an NP problem because it is of finite size.

[20 marks]
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13 Numerical Analysis II

Define the Chebyshev polynomial Ty(z). Evaluate Ty(1) using the formula
Ti+1(x) = 22Tk (x) — Ti—1(x). What is the leading coefficient of Tj(z)? [4 marks]

The best L., approximation to f(z) € C[—1, 1] by a polynomial p,,_1(z) of degree
n — 1 has the property that

max |e(x)]
z€e[—1,1]

is attained at m 4+ 1 distinct points —1 < & < & < ... < &, < 1 such that
(&) = —e(&-1) for j =1,2,...n.

Let f(z) = 2. Show, by means of a clearly labelled sketch graph, that the best
polynomial approximation of degree 1 is a constant. [3 marks]

Now suppose f(z) = z3 is the function to be approximated. Taking account of
symmetry, sketch the graph of f(x) and its best L, approximation by a polynomial
of degree 2. [5 marks]
By differentiating e(z), find the polynomial po(x). [6 marks]

State a formula for the best approximation to f(x) = =™ by a polynomial of degree
n—1. [2 marks]



